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Class - X

SOCIAL SCIENCE

Time : 3 hours Maximum Marks : 80

Total No. of Pages : 7

Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

This question paper consists of two parts i.e. Part-I and Part-II. Part-I of this question paper
contains Multiple Choice Questions (MCQs) from serial number 1 to 16 of 1 mark each.
These sixteen questions of Part-I are to be answered on a separate sheet provided. This part
has to be completed in first 30 minutes only and the answer sheet must be handed over to
the invigilator before starting Part-II.

In Part-II of the question paper, there are 20 questions from serial no. 17 to 36. These questions
are to be attempted in 2 hours and 30 minutes. This part should be attempted only after the
stipulated time given for Part-I.

Questions from serial number 17 to 31 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

Questions from serial number 32 to 35 are 4 marks questions. Answer of these questions
should not exceed 100 words each.

Question number 36 is a map question of 3 marks from Geography only. After completion,
attach the map inside your answer book.

An additional 15 minutes time has been allotted to read this question paper only.




PART -1

Who adopted the concept of an assembly line to produce automobiles?
(a) T. Cuppola (b) V.S. Naipaul
(c) Henry Ford (d) Ramesh Sarwan
OR
Name the person who created the cotton mill in England?
(a) Richard Arkwright (b) James Watt
() Mathew Boulton (d) Newcomen
OR

Which one of the following sub-urban of Bombay was a mill village?

(@) Thane (b) Kalyan (c) Girangaon (d) None of these

Which among the following countries were considered as Axis Power during Second
World War ?

(a) Nazi Germany, Japan, Italy

b)  Britain, Germany, Russia

(
(c) France, Germany, Italy
(

d) Britain, France, Russia and the US
OR

Who devised the Spinning Jenny ?

(a) Richard Arkwright (b) James Watt

(c) James Hargreaves (d) Samuel Luke
OR

Which one of the following is not a Presidency city?

(a) Bombay (b) Calcutta

() Kanpur (d) Madras

Which of the following is the correct meaning of ‘Biliotheque Bleue’?
(a) An author (b) Low price small books
(c) Monuments (d) None of these

OR
Who among the following wrote ‘Jungle Book’?
(a) R. K. Narayan (b) R. L. Stevenson
() Rudyard Kiplings (d) Charles Dickens
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Which religious reformer was responsible for the Protestant Reformation?
(a) Martin Luther (b) George Elliot
() Maxim Gorky (d) Martin Luther King
OR
Who among the following is the author of Pariksha Guru ?
(a) Devkinandan Khatri (b) Premchand
(c)  Srinivas Das (d) None of these

How much desired area is required for forest in our country?
(@) 16% (b) 20% () 23.2% (d) 33%

Which programme furnishes a good example for involving local communities for
restoration of degraded forests?

(a) Beej Bachao Andolan (b) Joint Forest Management
(c) Navdanya (d) Chipko Movement

Rooftap rainwater harvesting system in Rajasthan is known as :

(a) Guls (b) Kuls (c) Tankas (d) Baobs

Which one of the following beverage crops in India is the leading producer as well as
exporter in the world ?

(a) Coffee (b) Pulses () Tea (d) Curd

Which one of the following system of power sharing is called checks and balances?
(a) Horizontal distribution of powers

(b)
(c)
(

d) Power shared among different levels of government (vertical division of powers)

Federal division of powers

Separation of powers

Which one of the following lists includes subject of common interest to both the union
government and the state government ?

(@) Union list (b) Concurrent list

(c) State list (d) None of these
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How many times the constitution of Belgium was amended between 1970 and 1993?
(a) Two Times (b) Three Times

(c) Five Times (d) Four Times

Who among the following said that religion can never be separated from politics?
(a) Acharya Vinobha Bhave (b) Mahatma Gandhi

(c) Sarojini Nayadu (d) Rajendra Prasad

According to the World Bank, the criterion used to classify countries with the income
of Rs. 4,53,000 per annum and above in 2004 is considered as :

(a) Low income countries (b) Rich countries

(c) Average countries (d) Underdeveloped countries

Which of the following things money cannot buy ?

(a) Building (b) Flowers

(c) Pollution free environment (d) Books

National Rural Employment Guarantee Act was implemented in which one of the
following year ?

(a) 2004 (b) 2008 () 2005 (d) 2009

Which of the following types of activities are covered in the secondary sector ?
It generates services rather than goods
Natural products are changed through manufacturing
Goods are produced by exploiting natural resources

It includes agriculture, forestry and dairy
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PART -1I

Explain the affects of the British governments decision to abolish the Corn laws ?  3x1=3
OR

Explain the miserable condition of Indian weavers during the East India Company’s
regime in the eighteenth century ?

OR

Why is Mumbai (Bombay) known as ‘City of Dreams’ ? Give three reasons.

How did the print material of Europe affect the rise of nationalism in India? State any
three points.

OR

Explain the themes and issues of the novels of Charles Dickens with examples. 1+1+1

Why were the printed books popular even among illiterate people ? 3x1=3
OR

How did novels explore and depict the world of women ? Explain by giving examples.

Describe the progress of Print in Japan. 3x1=3
OR

Why is Godan considered an epic on Indian Peasantry? Explain. 3x1=3

What is resource planning? Give three phases of resource planning.

How many types of forest are classified on India? Explain it.

Discuss how rainwater harvesting in semi-arid regions of Rajasthan is carried out.

Describe the way in which power can be shared among governments at different levels.

Discuss the role of political parties in the determination of the outcomes of social division.

What did the African - American athletes do in order to draw international attention
and what was the reaction of the International Olympics ? 2+1=3

1080701 - C1




In what ways does politics influence caste system ? 3x1=3

What are the two basic criteria used for comparing an underdeveloped countries with
developed one ?

What do you mean by Human Development Index? What are its three components ?
1+2=3

Explain any three reasons for growth of service sector in India. 3x1=3
How can more employment opportunities be created in the rural areas ? 3x1=3

Explain the three types of flows within international economic exchange by giving any
one example each. 3+1=4

OR

Why did some industrialists of Europe in 19th century prefer hand labour to machine ?
OR

Explain what led to the expansion of Bombay’s population in the mid 19th century ?

Explain any four institutional reform programmes introduced by the government in
the interest of farmers. 4x1=4

What is decentralisation ? Examine the significance of Decentralisation.

Do you agree that agriculture is an activity of the unorganised sector in India? Give
any four points.

Three features with serial number 1 to 3 are marked on the given outline political map
of India. Identify these features with the help of the following information and their
correct names on the lines marked in the map.
(1) Soil type
(2) Major fibre crop
(3) Forest type
OR
Locate and label the following items with appropriate symbols on the same map.
(1) Salal
(2) Periyar
(3)  The largest producing state of coffee
Note : The following question is for the visual impaired candidates only in lieu of
Q. No. 36
36.1 : Which is the largest producing state of Tea ?
36.2 : Name the river on which Hirakund dam is constructed.
36.3 : Name a biosphere reserve of Kerala.
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